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Direction: A sentence with one blank is given, indicating that something has been 

omitted. Choose the word that best fits in the blank making the sentence 

grammatically correct and meaningful from the given five options. 

 

1. Despite the rain, they ________ at the outdoor concert until it ended. 

A. Arrived 

B. Made 

C. Stayed 

D. Wait 

E. Reached 

 

2. The sun's rays warmed the room and filled it with a comforting ____________. 

A. breeze 

B. fragrance 

C. glow 

D. melody 

E. shiver 

 

3. The explorer's detailed map provided essential ____________ for navigating the 

uncharted territory. 

A. guidance 

B. suspicion 

C. restraint 

D. confusion 

E. randomness 

 

4. The student's consistent effort and dedication led to remarkable ____________ in 

her academic performance. 

A. regression 

B. stagnation 

C. improvement 

D. deterioration 

E. disregard 
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Direction: In the given question, five words are printed in bold and are numbered 

A, B, C, D and E. The positions of some highlighted words may be incorrect and need 

to be exchanged with another highlighted to make the sentence correct. Find the 

words that need to be exchanged. 

 

5. Lost in the lands(A) of a book, time stand (B) to seemed (C) still as her imagination 

(D) carried her to distant pages.(E) 

A. A-D 

B. C-D & B-E 

C. D-E 

D. A-E & B-C 

E. No exchange required 

 

6. With dreams (A) in her eyes, she embarked (B) on a journey (C) to chase (D) her 

determination(E) and conquer her fears. 

A. A-C 

B. C-D & B-C 

C. A-E 

D. A-B & C-E 

E. No exchange required 

 

7. The aroma (A) of freshly baked (B) bread wafted through (C) the air, enticing (D) 

everyone in the vicinity.(E) 

A. A-C 

B. C-D & B-C 

C. C-E 

D. A-B & C-E 

E. No exchange required 

 

Direction: Read the sentence to find out whether there is an error in it. The error, if 

any, will be in one part of the sentence. The number corresponding to that part will 

be your answer. If the given sentence is correct as it is, mark the answer as ‘No 

error’. Ignore the errors of punctuation, if any. 

 

8. The research study involved (1)/ collecting data, analyzing (2)/ the results, and to 

draw (3)/ conclusions based on the findings. (4) 

A. 1 

B. 2 

C. 3 

D. 4 

E. No error 

http://www.byjusexamprep.com/


www.byjusexamprep.com 
 

 
4 

 

9. The collection of books (1)/ were carefully arranged (2)/ on the shelves, creating 

(3)/ an impressive display. (4) 

A. 1 

B. 2 

C. 3 

D. 4 

E. No error 

 

10. Last night, I am (1)/ watching a movie (2)/ when my friend (3)/ called to invite 

me. (4) 

A. 1 

B. 2 

C. 3 

D. 4 

E. No error 

 

Direction: Given below are five statements A, B, C, D and E which when arranged 

in the correct order, form a coherent and meaningful paragraph. Rearrange the 

statements in a proper sequence to form a meaningful paragraph and then answer 

the questions that follow. 

A. It is the persistent effort one puts into their goals that paves the way for 

accomplishments. 

B. Hard work is the cornerstone of achieving success. 

C. His story serves as a testament to the fact that while talent is crucial, it's the sweat 

and determination behind the scenes that truly define success. 

D. A shining example of this is Cristiano Ronaldo, whose journey from humble 

beginnings to becoming a football legend underscores the power of relentless 

dedication. 

E. From training for hours after regular practice sessions to maintaining a disciplined 

lifestyle, Ronaldo's unyielding commitment to his craft has propelled him to the 

pinnacle of his career. 

 

11. Which of the following would be the second sentence after rearrangement? 

A. A 

B. B 

C. C 

D. D 

E. E 
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12. Which of the following would be the fifth sentence after rearrangement? 

A. A 

B. B 

C. C 

D. D 

E. E 

 

13. Which of the following would be the first sentence after rearrangement? 

A. A 

B. B 

C. C 

D. D 

E. E 

 

14. Which of the following would be the third sentence after rearrangement? 

A. A 

B. B 

C. C 

D. D 

E. E 

 

15. Which of the following would be the fourth sentence after rearrangement? 

A. A 

B. B 

C. C 

D. D 

E. E 

 

Direction: In the following question, a word is given, which has been used in the 

three statements given below it. Identify the statement(s) in which the word fits 

contextually to convey a logical meaning. 

 

16. Ration 

I. I try to ration the children's television viewing to an hour a day. 

II. A ration book for certain items of food, clothing coupons, driving licence. 

III. In that state of mind you can't make a ration decision. 

A. Only I 

B. Only II 

C. Only III 

D. Both I and II 

E. Both II and III 
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Direction: In the given question, a statement has been divided into five segments, 

each of which is denoted by (A), (B), (C), (D), and (E). Rearrange all the segments 

to form a coherent statement. 

 

17.  

A) monastery spent most of their 

B) rather than talking 

C) days in silence, focusing 

D) the monks inside the 

E) on religious tasks 

A. ADBEC 

B. BECAD 

C. DACEB 

D. BDEAC 

E. ACEBD 

 

18. 

A) science laboratory and 

B) during the inventory search 

C) were missing from the 

D) couldn’t be located 

E) several microscopes 

A. DBECA 

B. ECADB 

C. ADCEB 

D. CBDEA 

E. BACED 

 

Direction: In the following question, a sentence with four words printed in bold is 

given. These words are numbered as (1), (2), (3) and (4). One of these four words 

may either be misspelt or inappropriate in the context of the sentence. Find out the 

word(s) that is wrongly spelt or inappropriate and mark the relevant option as your 

answer. If all the words printed in bold are correct, mark option (E), i.e. ‘All are 

correct’, as the answer. 
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19. We barely (1) made it to class (2) on time because of the number of students 

blocking (3) the corridoor. (4) 

A. 1 

B. 2 

C. 3 

D. 4 

E. All are correct 

 

20. Exhibit (1) maps were placed at the museium (2) entrance to help visitors (3) 

locate the attractions that interested (4) them the most. 

A. 1 

B. 2 

C. 3 

D. 4 

E. All are correct 

 

निरे्दश: निम्िलिखित जािकारी का ध्यािपूर्वक अध्ययि करें तथा िीचे दिए गए प्रश्िों के उत्तर िें। 
आठ व्‍यक्‍त‍ अथावत ्A, B, C, D, E, F, G और H एक र्तृ्‍ताकार मेज की चारों ओर एक-िसूरे से समाि िरूी 
पर बैठे हैं िेककि आर्श्‍यक िहीीं है कक इसी क्रम में हो। इि सभी के मुि कें द्र की ओर हैं। C, F की बाईं ओर से 

तीसरे स्थाि पर बठैता है। C और H के मध्‍य केर्ि एक व्यक्त बठैा है। B, H की ठीक बाईं ओर बैठता है। A, 

D की बाईं ओर से िसूरे स्थाि पर बैठता है। D, C के आसन्‍ि िहीीं बैठा है। E, C के आसन्‍ि िहीीं बैठा है। 
 

21. D और H के मध्‍य ककतिे व्यक्त बैठे हैं? 

A. तीि 

B. एक 

C. िो 
D. कोई िहीीं 
E. चार 
 

22. D के सन्िभव में B का स्थाि ्या है? 

A. िाईं ओर से तीसरा 
B. बाईं ओर से तीसरा 
C. ठीक बाईं ओर 
D. िाईं ओर से िसूरा 
E. इिमें से कोई िहीीं 
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23. A की िाईं ओर से गणिा करिे पर B और A के मध्‍य ककतिे व्‍यक्‍त‍ बैठे हैं? 

A. तीि 

B. एक 

C. कोई िहीीं 
D. िो 
E. चार 
 

24. C की बाईं ओर से िसूरे स्थाि पर कौि बैठता है? 

A. F 

B. D 

C. E 

D. A 

E. इिमें से कोई िहीीं 
 

25. निम्िलिखित पाींच में से चार एक निकश्चत तरीके से एक-समाि हैं और इसलिए एक समूह बिाते हैं। निम्ि 

में से कौि इस समूह से सींबींधित िहीीं है? 

A. G-D 

B. E-A 

C. H-B 

D. B-G 

E. F-H 

 

निरे्दश: निम्िलिखित जािकारी का ध्यािपूर्वक अध्ययि करें तथा िीचे दिए गए प्रश्िों के उत्तर िें। 
आठ व्यक्त अथावत ्P, Q, R, S, T, U, V और W चार अिग-अिग महीिों अथावत ्जिर्री, माचव, जूि और 
अगस्त की 13 और 18 तारीि को वर्िेश जा रहे हैं। िेककि आर्श्‍यक िहीीं है कक सींपूणव जािकारी इसी क्रम में 
हो। W 30 दििों र्ािे महीिे में जाता है। W के बाि जािे र्ािे व्यक्तयों की सींख्या P से पहि ेजािे र्ािे 

व्‍यक्‍तयों की सींख्या के समाि है। V एक सम सींख्या र्ािी तारीि को P से पहि ेजाता है। W और Q के मध्‍य 

चार व्यक्त जात ेहैं। R और U, जो 30 दििों र्ािे महीिे में जाता है, के मध्‍य एक व्यक्त जाता है। T, S से 

पहि ेजाता है। 
 

26. ककतिे व्‍यक्‍त‍ P से पहिे जात ेहैं? 

A. तीि 

B. एक 

C. कोई िहीीं 
D. िो 
E. चार 
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27. निम्ि में से कौि U के बाि जाता है? 

A. V 

B. T 

C. R 

D. S 

E. P 

 

28. निम्िलिखित पाींच में से चार एक निकश्चत तरीके से एक-समाि हैं और इसलिए एक समूह बिाते हैं। निम्ि 

में से कौि इस समूह से सींबींधित िहीीं है? 

A. T 

B. P 

C. S 

D. W 

E. Q 

 

29. निम्ि में से कौि जूि में जाता है? 

A. P 

B. V 

C. W 

D. T 

E. R 

 

30. Q निम्ि में से ककस तारीि को जाता है? 

A. 18 माचव 
B. 13 अगस्‍त 

C. 13 माचव 
D. 13 जूि 

E. 18 जूि 

 

निरे्दश: इस पर आिाररत प्रश्िों के उत्तर िेिे के लिए निम्िलिखित जािकारी का ध्यािपूर्वक अध्‍ययि करें। 
सात व्‍यक्‍त‍ अथावत ्P, Q, R, S, T, U और V सोमर्ार से रवर्र्ार तक शुरू होिे र्ािे सप्ताह के 7 अिग-
अिग दििों में एक कायवक्रम में भाग िे रहे हैं िेककि आर्श्‍यक िहीीं है कक सींपूणव जािकारी इसी क्रम में हो। P 

गुरुर्ार को भाग िेता है। P और U के मध्‍य िो व्‍यक्‍त‍ भाग िेते हैं। U और V के मध्‍य केर्ि एक व्यक्त भाग 

िेता है। V से पहि ेभाग िेिे र्ािे व्‍यक्‍त‍यों की सींख्या Q के बाि भाग िेिे र्ािे व्‍यक्‍त‍यों की सींख्या के समाि 

है। R, S से पहि ेभाग िेता है। S शनिर्ार और रवर्र्ार को भाग िहीीं िेता है। 
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31. मींगिर्ार को कौि भाग िेता है? 

A. Q 

B. S 

C. V 

D. P 

E. इिमें से कोई िहीीं 
 

32. T और Q के मध्‍य ककतिे व्‍यक्‍त‍ भाग िेते हैं? 

A. कोई िहीीं 
B. एक 

C. तीि 

D. िो 
E. चार 
 

33. T निम्ि में से ककस दिि भाग िेता है? 

A. रवर्र्ार 
B. शुक्रर्ार 
C. शनिर्ार 
D. बुिर्ार 
E. इिमें से कोई िहीीं 
 

34. निम्ि में से कौि Q से पहि ेभाग िेता है? 

A. V 

B. R 

C. T 

D. P 

E. U 

 

35. V के बाि ककतिे व्यक्त भाग िेते हैं? 

A. तीि 

B. एक 

C. िो 
D. चार 
E. पाींच 
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निरे्दश: निम्िलिखित प्रत्येक प्रश्ि में कुछ कथिों के बाि कुछ निष्कर्व दिए गए हैं। सभी कथिों को सत्य माित े

हुए, निणवय करें कक कौि सा/से निष्‍कर्व ताककव क रूप से अिुसरण करता/करत ेहै/हैं। 
 

36. कथि: 

कुछ टूि, इमेज हैं 
कोई इमेज, डिजीट िहीीं है 
सभी डिजीट, बोल्‍ि हैं 
निष्‍कर्ष: 
I. कुछ बोल्‍ि, इमेज िहीीं हैं 
II. सभी डिजीट के टूि होिे की सींभार्िा है 
A. केर्ि I अिुसरण करता है 
B. केर्ि II अिुसरण करता है 
C. या तो I या II अिुसरण करता है 
D. ि तो I ि ही II अिुसरण करता है 
E. िोिों I और II अिुसरण करत ेहैं 
 

37. कथि: 

सभी ट्री, कार हैं 
केर्ि‍कुछ‍कार, रोड़‍हैं 
कोई‍रोड़, बिव‍िहीीं‍है 
निष्‍कर्ष: 
I. कुछ ट्री, बिव िहीीं हैं 
II. सभी बिव के कार होिे की सींभार्िा है 
A. केर्ि I अिुसरण करता है 
B. केर्ि II अिुसरण करता है 
C. या तो I या II अिुसरण करता है 
D. ि तो I ि ही II अिुसरण करता है 
E. िोिों I और II अिुसरण करत ेहैं 
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38. कथि: 

सभी टै्रक, टे्रि हैं 
कोई‍टै्रक, र्ायर‍िहीीं‍है 
केर्ि‍कुछ‍ग्‍िास, र्ायर‍हैं 
निष्‍कर्ष: 
I. सभी ग्‍िास के टै्रक होिे की सींभार्िा है 
II. कोई टे्रि, ग्‍िास िहीीं है 
A. केर्ि I अिुसरण करता है 
B. केर्ि II अिुसरण करता है 
C. या तो I या II अिुसरण करता है 
D. ि तो I ि ही II अिुसरण करता है 
E. िोिों I और II अिुसरण करत ेहैं 
 

निरे्दश: निम्िलिखित जािकारी का ध्यािपूर्वक अध्ययि करें तथा उसके अिुसार प्रश्िों के उत्तर िें। 
एक पररर्ार में िो वर्र्ादहत जोड़ों के साथ िौ सिस्य हैं। C, I की पत्िी है। F, E की माता है। M, G के िािा/िािा 
हैं। E, D की माता है। G, C, जो H की बहि है, की पुत्री है। E, I की इकिौती बहि है। J, E के वपता हैं। 
 

39. C के सींिभव में J का ्या सींबींि है? 

A. वपता 
B. भाई 
C. ब्रिर-इि-िॉ 
D. ससुर 
E. इिमें से कोई िहीीं 
 

40. I के ससुर कौि हैं? 

A. J 

B. M 

C. F 

D. G 

E. इिमें से कोई िहीीं 
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41. F के सींिभव में D का ्या सींबींि है? 

A. पुत्री 
B. पोती 
C. वपता 
D. बहि 

E. नििावररत िहीीं ककया जा सकता 
 

42. यदि PROBLEMATIC के पहि,े पाींचर्ें, छठे और ग्यारहर्ें अक्षरों का उपयोग करके चार अक्षर र्ािा 
साथवक शब्ि बिाया जा सकता है। तो िर्गदठत शब्ि की बाईं ओर से िसूरा अक्षर ्या होगा? यदि ऐसा कोई 
शब्ि िहीीं बि सकता है तो अपिे उत्तर के रूप में X को धचकन्‍हत करें। यदि ऐसे एक से अधिक शब्ि बिाए जा 
सकते हैं तो अपिे उत्तर के रूप में Z को धच‍कन्‍ह‍त करें। 
A. P 

B. L 

C. C 

D. X 

E. Z 

 

निरे्दश:‍निम्िलिखित‍सींख्या‍श्ृींििा‍में, केर्ि‍एक‍सींख्या‍गित‍है।‍गित‍सींख्या‍ज्ञात‍कीकजए। 
 

43. 51, 375, 631, 827, 971, 1079 

A. 827 

B. 971 

C. 1079 

D. 631 

E. 375 

 

44. 138, 211, 181, 254, 217, 297 

A. 297 

B. 217 

C. 181 

D. 211 

E. 138 

 

45. 89, 107, 143, 215, 359, 663 

A. 89 

B. 215 

C. 107 

D. 359 

E. 663 
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46. 28, 40, 84, 210, 630, 2205 

A. 630 

B. 40 

C. 2205 

D. 210 

E. 84 

 

47. 16, 15, 29, 86, 343, 1732 

A. 1732 

B. 343 

C. 86 

D. 29 

E. 15 

 

निरे्दश: निम्िलिखित तालिका का ध्यािपूर्वक अध्ययि करें तथा दिए गए प्रश्िों के उत्तर िें। 
िीचे िी गई तालिका 2021 और 2022 में चार कीं पनियों A, B, C और D द्र्ारा बेची गई कारों की सींख्या को 
िशावती है। 

 
 

48. 2021 में कीं पिी A द्र्ारा बेची गई कारों की सींख्या, 2022 में कीं पिी D द्र्ारा बेची गई कारों की सींख्या 
की ककतिी प्रनतशत है? 

A. 92% 

B. 75% 

C. 150% 

D. 80% 

E. 125% 

 

49. 2021 में B द्र्ारा बचेी गई कारों की सींख्या तथा 2022 में A द्र्ारा बेची गई कारों की सींख्या के बीच का 
अिुपात ्या है? 

A. 15:17 

B. 3:4 

C. 7:9 

D. 5:6 

E. इिमें से कोई िहीीं 
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50. यदि 2020 में A, B और C द्र्ारा बेची गई कारों की औसत सींख्या 2022 में उन्हीीं तीि कीं पनियों द्र्ारा 
बेची गई कारों की औसत सींख्या से 25% कम है, तो 2020 में A, B और C द्र्ारा बेची गई कारों की कुि 

सींख्या ्या है? 

A. 936 

B. 984 

C. 1018 

D. 872 

E. इिमें से कोई िहीीं 
 

51. यदि 2021 में कीं पिी C द्र्ारा बेची गई कारों की सींख्या का उसी कीं पिी द्र्ारा निलमवत कारों की सींख्या से 

अिुपात 17:20 है, तो 2021 में कीं पिी C की ककतिी कारें िहीीं बबकीीं थीीं? 

A. 98 

B. 84 

C. 75 

D. 69 

E. इिमें से कोई िहीीं 
 

52. 2021 में कीं पिी C और D द्र्ारा बचेी गई कारों की कुि सींख्या और 2022 में समाि िो कीं पनियों द्र्ारा 
बेची गई कारों की कुि सींख्या के बीच ्या अींतर है? 

A. 14 

B. 24 

C. 21 

D. 18 

E. इिमें से कोई िहीीं 
 

53. 5 व्यक्तयों का औसत र्जि 85 ककिोग्राम है। यदि 5 व्यक्तयों के समूह में एक िया व्यक्त शालमि हो 
जाता है, तो समूह का औसत र्जि 5 ककिोग्राम कम हो जाता है। छठे व्यक्त का र्जि ककतिा है? 

A. 70 ककग्रा 
B. 65 ककग्रा 
C. 49 ककग्रा 
D. 55 ककग्रा 
E. 60 ककग्रा 
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54. एक र्गव का पररमाप एक आयत के पररमाप से 16 सेमी कम है। र्गव की भुजा आयत की िींबाई और चौड़ाई 
के योग से 14 सेमी कम है। यदि आयत की िींबाई 12 समेी है, तो आयत की चौड़ाई ज्ञात करें। 
A. 5 सेमी 
B. 8 सेमी 
C. 10 सेमी 
D. 6 सेमी 
E. इिमें से कोई िहीीं 
 

55. 6000 रुपये की एक रालश को 2 र्र्ों के लिए चक्रर्दृ्धि ब्याज पर r% प्रनत र्र्व की िर से निरे्श ककया 
जाता है। 2 र्र्व के अींत में प्राप्त ब्याज 2640 रुपये है। यदि ब्याज की िर (r - 5)% र्ावर्वक है, तो 2 र्र्व के 

अींत में उसी रालश का चक्रर्दृ्धि ब्याज ्या होगा। 
A. 1935 रुपये 

B. 2025 रुपये 

C. 1816 रुपये 

D. 1170 रुपये 

E. इिमें से कोई िहीीं 
 

56. A िे 8000 रुपये के निर्ेश के साथ एक व्यर्साय शुरू ककया और 6 महीिे के अींत में B, A के साथ जुड़ 
गया। र्र्व के अींत में, B का िाभ 49000 रुपये के कुि िाभ में से 21000 रुपये है। B द्र्ारा व्यर्साय में 
निरे्श की गई रालश का योग ्या है? 

A. 14400 रुपये 

B. 15000 रुपये 

C. 9600 रुपये 

D. 12000 रुपये 

E. इिमें से कोई िहीीं 
 

57. 300 मीटर िींबी एक टे्रि 420 मीटर िींबे प्िेटफॉमव को 24 सेकीं ि में पार करती है। यदि टे्रि की गनत 

33
1

3
% कम कर िी जाए, तो टे्रि द्र्ारा एक िींभे को पार करिे में लिया गया समय ज्ञात कीकजए? 

A. 9 सकेीं ि 
B. 18 सेकीं ि 
C. 15 सेकीं ि 
D. 12 सेकीं ि 
E. इिमें से कोई िहीीं 
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निरे्दश: निम्िलिखित प्रश्ि में प्रश्िर्ाचक धचन्‍ह '?' के स्थाि पर ्या आिा चादहए? 

 

58. 1250 का 70% − 730 ÷ 5 = 3? 

A. 6 

B. 8 

C. 3 

D. 4 

E. 5 

 

59. 123 + 162 = 292 + ? 

A. 924 

B. 1325 

C. 1090 

D. 1143 

E. 1245 

 

60.  = ? 

A. 39 

B. 42 

C. 21 

D. 4 

E. 31 

 

61. 125 का 56% + 969 ÷ 19 = ?2 

A. 25 

B. 28 

C. 11 

D. 16 

E. 20 

 

62.  + 120 का 35% = 45 

A. 17 

B. 42 

C. 12 

D. 15 

E. इिमें से कोई िहीीं 
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ANSWERS 
 

1. Ans. C.  

The correct answer is C. ‘Stayed’ is the apt fit as it intends to state that the subjects 

were at a place until the event ended. 

 

2. Ans. C.  

"Glow" is the correct answer as it matches the effect of the sun's rays warming the 

room. Other options are incorrect: 

A) "Breeze" is not related to warmth or filling a room. 

B) "Fragrance" doesn't fit the context of the sun's rays. 

D) "Melody" is unrelated to the sun's warming effect. 

E) "Shiver" is the opposite of warmth and comfort. 

 

3. Ans. A.  

"Guidance" is the correct answer as it fits the context of using a map for navigation. 

Other options are incorrect: 

B) "Suspicion" is not relevant to navigation or maps. 

C) "Restraint" doesn't match the context of using a map. 

D) "Confusion" is opposite to what a map provides. 

E) "Randomness" is not related to navigation assistance. 

 

4. Ans. C.  

"Improvement" is the correct answer as it matches the context of the student's effort 

and positive outcome. Other options are incorrect: 

A) "Regression" and D) "deterioration" are negative outcomes, opposite to the 

intended meaning. 

B) "Stagnation" implies lack of progress, which contradicts the context. 

E) "Disregard" is not related to the student's academic performance. 

 

5. Ans. D.  

We need to exchange A-E and B-C to rectify the sentence. 

 

6. Ans. C.  

We need to exchange A-E. 
 

7. Ans. E.  

The sentence is correct as it is and does not require any swapping. 
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8. Ans. C.  

As per the rule of parallelism. It should be ‘drawing’ in place of ‘to draw’ . 

 

9. Ans. B.  

The subject "collection" should be treated as a singular unit, so the verb "was" should 

be used instead of "were." 

 

10. Ans. A.  

The correct form is "Last night, I was" to match the past tense context of the 

sentence. 

 

11. Ans. A.  

The correct order is BADEC 

 

12. Ans. C.  

The correct order is BADEC 

 

13. Ans. B.  

The correct order is BADEC 

 

14. Ans. D.  

The correct order is BADEC 

 

15. Ans. E.  

The correct order is BADEC 

 

16. Ans. D.  

In III, the correct word is ‘rational’. 

 

17. Ans. C.  

The correct order is DACEB. 

 

18. Ans. B.  

The correct order is ECADB 

 

19. Ans. D.  

The correct spelling is ‘corridor’. 
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20. Ans. B.  

The correct spelling is ‘museum’. 

 

21. Ans. A. 

 

22. Ans. A.  

 

23. Ans. E.  
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24. Ans. B.  

 

25. Ans. D.  

 

26. Ans. A.  
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27. Ans. C.  

 

28. Ans. B.  

 

29. Ans. C.  
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30. Ans. B.  

 

31. Ans. B.  

 

32. Ans. D.  
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33. Ans. C.  

 

34. Ans. B.  

 

35. Ans. C.  
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36. Ans. E.  

 

37. Ans. B.  

 

38. Ans. D.  

 

 

39. Ans. D.  
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40. Ans. B.  

 

41. Ans. E.  

 

 

42. Ans. D.  

No such word can be formed. 

 

43. Ans. C.  

The pattern of the series is: 

51 + 182 = 375 

375 + 162 = 631 

631 + 142 = 827 

827 + 122 = 971 

971 + 102 = 1071 

Hence the wrong number is 1079. 

 

44. Ans. B.  

The pattern of the series is: 

138 + 73 = 211 

211 – 30 = 181 

181 + 73 = 254 
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254 – 30 = 224 

224 + 73 = 297 

Hence the wrong number is 217. 

 

45. Ans. E.  

The pattern of the series is: 

89 + 18 = 107 

107 + 36 = 143 

143 + 72 = 215 

215 + 144 = 359 

359 + 288 = 647 

Hence the wrong number is 663. 

 

46. Ans. B.  

The pattern of the series is: 

28 × 1.5 = 42 

42 × 2 = 84 

84 × 2.5 = 210 

210 × 3 = 630 

630 × 3.5 = 2205 

Hence the wrong number is 40. 

 

47. Ans. A.  

The pattern of the series is: 

16 × 1 – 1 = 15 

15 × 2 – 1 = 29 

29 × 3 – 1 = 86 

86 × 4 – 1 = 343 

343 × 5 – 1 = 1714 

Hence the wrong number is 1732. 

 

48. Ans. E.  

Required percentage =  = 125% 

 

49. Ans. C.  

Required ratio = 336 : 432 = 7 : 9 
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50. Ans. A.  

Total number of cars sold by A, B and C in 2022 = 432 + 396 + 420 = 1248 

Total number of cars sold by A, B and C in 2020 =  = 936 

Note: If the average number of cars sold by A, B and C in 2020 is 25% less than the 

average number of cars sold by same three companies in 2022, then the total number 

of cars sold by A, B and C in 2020 will be 25% less than the total number of cars sold 

by same three companies in 2022. 

 

51. Ans. B.  

Number of cars manufactured by company C in 2021 =  = 560 

Number of unsold cars of company C in 2021 = 560 – 476 = 84 

 

52. Ans. D.  

Required difference = (476 + 250) – (420 + 288) 

= 726 – 708 = 18 

 

53. Ans. D.  

Weight of 6th person = 6 × (85 – 5) – 5 × 85 

= 480 – 425 = 55 kg 

 

54. Ans. B.  

Let the breadth of rectangle be b cm. 

Side of square = (12 + b) – 14 = (b – 2) cm 

Perimeter of a square = 4(b – 2) = (4b – 8) cm 

4b – 8 + 16 = 2(12 + b) 

⇒ 4b + 8 = 24 + 2b 

⇒ 2b = 16 

⇒ b = 8 

 

55. Ans. A.  

6000 = 6000 + 2640 = 8640 

⇒  =  = 1.44 

⇒  = 1.2 

⇒ r = 20 
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Required interest = 6000  

= 7935 – 6000 

= Rs. 1935 

 

56. Ans. D.  

Ratio of profit shares of A and B = (8000 × 12) : (M × 6) 

 

⇒  =  

⇒ M = 12000 

 

57. Ans. C.  

Speed of train =  =  = 30 m/s 

Reduced speed of train =  = 20 m/s 

Required time =  = 15 seconds 

 

58. Ans. A.  

70% of 1250 − 730 ÷ 5 = 3? 

⇒ − 146 = 3? 

⇒ 875 − 146 = 3? 

⇒ 729 = 3? 

⇒ 93 = 36 = 3? 

⇒ ? = 6 

 

59. Ans. D.  

123 + 162 = 292 + ? 

⇒ 1728 + 256 = 841 + ? 

⇒ 1984 – 841 = ? 

⇒ ? = 1143 
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60. Ans. E.  

? =  

=  

=  

=  

= 31 

 

61. Ans. C.  

56% of 125 + 969 ÷ 19 = ?2 

⇒  + 51 = ?2 

⇒ 70 + 51 = ?2 

⇒ 121 = ?2 

⇒ ? = 11 

 

62. Ans. D.  

 + 35% of 120 = 45 

⇒  +  = 45 

⇒  + 42 = 45 

⇒  = 3 

⇒ ? =  = 15 
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